«Gptiim Qmip» PLL

Uuljuqltiph hwpwpl
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wnwgwnl)
i-pn puipdw hwdwp pughuwyhl vwught (wpwg UU2-h) Thi 89.0
Unuwény wwydwiwynpywd i -pn hwpywpuyhl pupduw fughuaghl vwlugqih pudibduwup 45%
Etpputitipghugh vwjuqbbtnh thnthnfjumpjunip wuydwiu]npdws i -pn hwpywpluyhd uupgw Aughuwght vwugbh
puditnfwup 10%
®npuwpdtiph thnthnjumpyuip wuwydwiwynpgwd i -pn, hwpqupuyhtt pupju Pwghuught vwjugbh pudibdwun 45%
Lunguutilp 100%

Uwljuqih qpupbljub 6pqpipnudtip

owjuiitiph thnthnfjuniyejuwdp wyuytwiwynpjud uwljuqih thnthnfjunipymop

Nuwpqupljuyhtt pupdub bwunpnn pupjuw Uwbpudwju opudwugujupupdub, opuwhbtnugdwi b Yhnyueptiph

UU.2-1n)

dwppdwl dwnwynipymbibph dugpngdubd gmiwpwyht vwughip (wpwhg UU2-h) Til 145.049
Nuwpqupljuyhtt pupduibt bwunpnnn pupguw Unpunng bt Uwipudwiu opudwgqujupupdud pughuwghd Swgwp Vb(i-1) 86.67
Swpyupluyhlt pupyui bwhunpynn pupguw Uguenn bt Twipudwiu gpuiwgujupupiui huapugh duwgp VI(i-1) 60.388
Nupyupluyhtt pupjuw Uywnnnhtt Uwipudwiu opudwyuijupupiwi pughuuyghb dunfwp Vbi 89.48
Nuwpqupluyhtt pupdu Uwbpudwu opudwgujupupdwui, opwhtinwgdwb b Yhnpueptnh dwppdwid dwnwynieynibbtiph CRbi 0.92
dunpnigiub nhdwg hwpytgndwd hwunyph hwjwpwgpiwb pughuwht pinnup i
Nupyupljuyht pupjub bwunpnn pupgu Uwbpudwfu opudunpujupupdub, gpuwhtinwgdwb b jhnpuentph CRb(i-1) 0.91
dwppiw dwpwympynbitph dunpnigdw nhdwg hwpytigndwd hwunyph hwjwpugpdwd pughuwghl innup :
Supqwipluyht pupdwb bwpunpynn pupguw Awghuwyht vwugimd Egpputitipghwh pudatiduup Delta EP b(i-1) 0.10
Nupyuwpluyhtt pupjub bwunpnnn pupguw hodwp Awghuwghtt vwlugbmy hnthnjuwub dwiuutiph (wewbg .

Delta VC b(i-1) 0.00
Likyppuititipnghwyh) pudibdwup
®njuhwypmgiwi yinynup 85%
Uwipudwu ogpudwpujupupiut Swjwjitipny yuydwiuynpjud Auqhuwghtt uwjuqih dogpypdwi .

Delta Tbi 31.883
suthp (wnwbg UUZ-h)
Ti -p hwpjwply
Supqupluyhll prupguw hwdwp wipugpdud Aughuught vwught (wpwbg GUZ-h) Thi 89.0
Unwény wwydwiwynpuwsd i -pn hwpgwpluyhb pupdu Awghuwght vwjugbh pudittuup Delta Ibi 45%
®njuwipdtiph thnthnfumpyudp  wuytw iy npws i -pn, hwpdwiplught pupgu Aughuwghb vwljughh pudibtuup Delta ER bi 45%
Ejtlpypputitpghuwyh vwjugitiph thnthnfunipyudp wuydwbw]npywd i -p hwpgupluyhtt pupdu Awghuwghb vwljugbh 10%

. (Y

pwdibdwunp DeltaEPbi
Swoyupluyhi pupfu hundwp uquéng wuypdwiw]npjwd Spgpypiwb gnpdwlhg KIi 1.448
Nuwpqwipljuyhtt pupgwt bwfunpynn puupgw hwdwp unuéng yuydwiw]npjud dogppdwl gnpdwljhg Ki-1 1.41
Suwpqwpljwyhl pupyub Gwfunpnnn pupgu unwsh gmgubhop 1Ti-1 102.6
Unuwény wuydwiwynpjuwd Luqhuwghtt uwljuqh Sogppiwi swhp (wpwbg GUZ-h) 17.927
Sunyupljuyht pupjuw huniwp hnpuwpdbiph hnthnfumpyundp wpwydwiwynpfwd Soqpyniwi gnpdwljhg KERi 0.92
Juwpdwlumpjub wewehl pupyub bwpnpnnn pupyju Gypnyh dupiwdp hwyuywid ngpudh opulub hwpwpluyht 56221
thnpuwpdtipliph thohi pwpwbiwuin ERo )
Swpqwipljuyht pupgwib bwunpnnn opwgnyguyhl pupyw Gypngh tuypdwdp hwyjuui npudh opujub 516.38
hunyupyuyht hnjuwpdbtpttipnh thohti pYwpwbmjuin ERi-1 !
Pnfuwipdtipny wjuyiwtunnpdwd Augqhuwihi uwljugqih 62gpypiwi swhp (wpwbg UU2-h) -3.265
Swpqwpluyhb pupyuw hunfwp btlgputitpghugh vwjugitiph hinginumpyudp wuydwiwd npdwd Gqpgiwb 1.712
gnpowyhgn KEPi :
Jwpdwuinipjul wnwehl pupyuw uljqpnud gnpdnn Ltypputitipghugh vwjugqitph hhdwb ypu hwpduwpywd 15219
huwpyuwpuyht ppupnud Wodght dwpujupunynn Gtyypukitpghwh dhohtt onwd vwljughin EPo !
Supyupljuyht pupju oph uwljuqitp mdh dhe Wiplbim opdw npmpyuip gnpdnn Liaypputitipghwh vwjwgbbph 26.052
hhdwb Ypw hwpyupygwd hwpgupluyht ppupmyd Woaht dwpujupupynn bpgputbtpghwgh dhoht Ypnywd uwljughbp EPi ’
EiEpppukiatpghuyh vwjuqiabph thnthnpmypjudp yuydwitwynpjwd Auqhuwghtt vwijugqih Gqppdiwui 6.335
sunhp (wnwig UWUZ-h) )
Pnnp gnpdniiikpny] wwylwiwynpywé pughuwght uvwugqih £oqpundwb swihp (wpwig GU2-h) 52.880
i-pn hupjupughtt pupjuw Uwipuwdwhu gpuiunpuljupupdwi, gpuwhtnugdwa i Jinpueptph wwppiwui 141.880
Swnwynpymaibph dunpmgiwmi Gogppud gmiwpught vwljughip (wewbg BU2-h) Ti :
i-pn hupupljughtt pupju Uuipudwu gpuiwpuljupupdui, gpuwhtinugdwub b fnypueptiph vwppdwi 170.256
Swnwynipymuibtph dunpmgdwi Gogppywud gnitwpughtt vwljughip (bkpupjuy GUZ-0) :
Ukdwmdwpm spwdunpulpupumpifunh puqhuuyple wwlpuuqhlph hwpdwplp
Sunpqupluyhl pupfupughuwghi dhdwdwiu uwlughl (wowig UUZ-h) T1 wb 8.90
Supqupluyhl prupgu Ggppyud dhdwdwu uwljughd (wnwtg UU2-h) T1 wi 14.188
Sunpqupluyhl pupgw Sogpypywd dhdwdwiu uwljughl (Wkpupyuy GUZ-0) 17.026
Qnuhtinwgdwh pughuwght vwught (wpwg UUZ-h) T2 wb 18.10
Qnuhtinwgiwl Sgppywd uwught (wpwg UU2-h) T2 wi 28.854
Qnuihtinwgiwl Spqppywd uwught (ukpunjuy GU2-1) 34.625
Epliwbh dppnuynihpbith wipnpgtipiyw optiph htinwgiwl dSwinwympymbitph dkdwdwfu pughuwghl vwlughl (wnwig 510
UUZ-h) T3 wb )
Bnlwbh dtappnuynihptih uipnpgtapyw optiph htinwgdiwi dSwnwympymbbtph vEdwow ogmpwd vwlught (wnwtg 8.130
UU.z-h) T3 wi )
Bpliwth dtyppnunihiptitth wipnpgiptyw optiph htinwgdwt dwinwynpynibitiph dhdwodwhu trgnpwd vwlught (Whpuryug 9756




